Task: To count in 10’s.

In a shop, grapes come in bunches of 10

Max wants to buy forty grapes.

Are there enough grapes?

Jemima is counting in 10s on part of a
hundred square.

1 2 3 4 5 6 7 8 9 |10

n 1211314 |15 1617 |18 ] 19|20

21 | 22 |1 23 |24 |25 | 26| 27 | 28 | 29 | 30
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41 | 42 | 43 | 44 | 45 | 46 | 47 | 48 | 49 | 50

She starts at 10

Shade in all the numbers Jemima will
say.

What is the same about the numbers
she says?

What is different about the numbers?

. How many birds are there altogether?

222

There are birds in each tree.
There are trees.
There are birds altogether.

How many flowers are there altogether?

EIY I

There are flowers in each bunch.
There are bunches.
There are flowers altogether.

. Use a 0-100 bead string to count in tens.

Can we count forwards and backwards in tens?

Can we count in tens on a number track as well?
~ How does this match counting on a bead string?







